Moto-All.ru

CITMCOK OETAJIEU N1J19 "STARTER & ALTERNATOR ENG NO 612713 +

(ENG NO 613308 - 613370)" TRIUMPH TIGER 800XC

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEU N1J19 "STARTER & ALTERNATOR ENG NO 612713 +

(ENG NO 613308 - 613370)" TRIUMPH TIGER 800XC

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 T1300042 Cpok nocTaBku oT 19 gHE# Alternator Rotor 1
2 T1300043 Cpok nocTaBku oT 19 gHel Alternator Stator 1
3 T3330836 CpoK IIOCTaBKH OT 27 gHeH BOLT,CAP/HD,M12X1.25X30,RAW 1
4 T3550846 Cpox noctasku ot 19 Heir Jfasher, MI2x 30x 8. ENGNO 1
5 T1300807 CpOK IIOCTaBKH 0T 27 HHe’ KEY,WOODRUFF 1
6 T3051081 CpoK IOCTaBKu OT 27 gHel SCREW,CAP/HD,M6X1X40,ENC,RAW 3
7 T1300675 Cpok nocTaBku oT 19 gHE# Regulator Rectifier, 50A 1
8 T3200190 Cpok nocTaBku oT 19 gHel Bolt, RHHF, M6 x 25, SLV 2
9 T1311112 CpoK mmocTaBKH 0T 19 nHel Starter Motor, Black 1
10 T3600807 CpoK IOCTaBKH OT 27 gHEH '0' RING 1
11 T3330891 Cpok mocTaBku 0T 27 gHER BOLT, RHHF, M5X0.8X12, S5041 1
12 T3551202 CpoK IIOCTaBKH OT 27 gHEl WASHER,SPRING,M5X8.55X1.5, 1
13 T3205067 CpOK IIOCTaBKH 0T 27 HHel BOLT,HHF,LGHTD,M6X1.0X25,SLV 2
14 T2508250 Cpoxk mocTaBku 0T 19 nHel Tab, Connector, Crank Pos 1




